On a K-Homogeneous Metric



Marina V. Polovinkina and Igor P. Polovinkin

Abstract We consider a Riemannian metric which generates the Beltrami-Laplace operator coinciding with the B-elliptic operator up to a factor.

Keywords B-elliptic operator · Riemannian metric · Laplace Beltrami operator · Isometry group · Killing conditions · Lobachevsky geometry

1 K-Homogeneous Metric

Let $\gamma = (\gamma_1, \dots, \gamma_n)$ be a vector with fixed numbers γ_i , $i = 1 \dots, n$, which are not equal to zero at the same time. We denote by R_+^n the set of points $x = (x_1, \dots, x_n) \in R^n$ such that $x_i \in R$, when $\gamma_i = 0$, $x_i \in (0, +\infty)$, when $\gamma_i \neq 0$.

If $\gamma_i \neq 0$, the variable x_i is called singular. As usual, we will use the notation

$$(x)^{\gamma} = \prod_{i=1}^{n} x_i^{\gamma_i}, \ x = (x_1, \dots, x_n) \in R_+^n.$$

Let the function u(x) be twice continuously differentiable in \mathbb{R}^n_+ . We define the operator Δ_{B_n} by the formula

$$\Delta_{B_{\gamma}} u = \sum_{i=1}^{n} \frac{\partial^{2} u}{\partial x_{i}^{2}} + \sum_{i=1}^{n} \frac{\gamma_{i}}{x_{i}} \frac{\partial u}{\partial x_{i}}.$$
 (1)

M. V. Polovinkina

Voronezh State University of Engineering Technologies, Voronezh, Russian Federation e-mail: polovinkina-marina@yandex.ru

I. P. Polovinkin (⊠)

Voronezh State University, Voronezh, Russian Federation e-mail: polovinkin@yandex.ru

Belgorod State National Research University (BelGU), Belgorod, Russian Federation

© The Author(s), under exclusive license to Springer Nature Switzerland AG 2023 V. Vasilyev (ed.), *Differential Equations, Mathematical Modeling and Computational Algorithms*, Springer Proceedings in Mathematics & Statistics 423, https://doi.org/10.1007/978-3-031-28505-9_9

Operators of the form (1) have been studied by I. A. Kipriyanov and his disciples (see [1-5]).

The aim of this section is to find a positively defined in \mathbb{R}^n_+ symmetric quadratic form (metric)

$$ds^{2} = \sum_{i=1}^{n} \sum_{j=1}^{n} g_{ij} dx_{i} dx_{j},$$

such that the Beltrami-Laplace operator (see [6])

$$\Delta_{\omega} = \frac{1}{\sqrt{|g|}} \sum_{i=1}^{n} \frac{\partial}{\partial x_i} \sum_{k=1}^{n} g^{ik} \sqrt{|g|} \frac{\partial}{\partial x_k}$$
 (2)

would coincide with the operator $\Delta_{B_{\gamma}}$ up to a multiplier. Here the functions g^{ij} , $i, j = 1, \ldots, n$, are the entries of the matrix $\|g^{ij}\|$, which is the inverse of the matrix $\|g_{ij}\|$ (covariant metric tensor),

$$g = \det \|g_{ij}\|.$$

The study of the properties of elliptic differential operators using Riemannian metrics has a long history (see, for example, [7, 8]).

Theorem 1 If $n \ge 3$, the entries of the matrix $||g_{ij}||$ are defined by formulas

$$g_{ij} = \delta_{ij} \prod_{i=1}^{n} x_i^{K_i} = \delta_{ij} x^K, \ i, j = 1, \dots, n, \ K = (K_1, \dots, K_n),$$
(3)

where

$$K_i = 2\gamma_i/(n-2),\tag{4}$$

 δ_{ij} is the Kronecker symbol.

Proof Indeed, since $g_{ij} = 0$ for $i \neq j$, substituting (3) into (2), we get:

$$\Delta_{\omega} u = \frac{1}{\sqrt{|g|}} \sum_{k=1}^{n} \frac{\partial}{\partial x_k} \left(g^{kk} \sqrt{|g|} \frac{\partial u}{\partial x_k} \right), \tag{5}$$

where

$$|g| = g = x^{nK} = \prod_{i=1}^{n} \prod_{i=1}^{N} n \, x_i^{K_i} = \prod_{i=1}^{n} \, x_i^{2n\gamma_i/(n-2)},\tag{6}$$

$$g^{kk} = x^{-K} = \prod_{i=1}^{n} x_i^{-2\gamma_i/(n-2)}.$$
 (7)

Taking into account (6) and (7), it is possible to rewrite (5) in the following form:

$$\Delta_{\omega} u = \frac{1}{x^{nK/2}} \sum_{j=1}^{n} \frac{\partial}{\partial x_{j}} \left(x^{-K} x^{Kn/2} \frac{\partial u}{\partial x_{j}} \right) =$$

$$= x^{-K} \sum_{j=1}^{n} \frac{\partial^{2} u}{\partial x_{j}^{2}} + x^{-Kn/2} \sum_{j=1}^{n} \frac{\partial u}{\partial x_{j}} \left(\prod_{l=1}^{n} x_{l}^{K_{l}(n-2)/2} \right) \frac{\partial u}{\partial x_{j}} =$$

$$= x^{-K} \sum_{j=1}^{n} \frac{\partial^{2} u}{\partial x_{j}^{2}} + x^{-Kn/2} \sum_{j=1}^{n} \prod_{l=1}^{n} x_{l}^{K_{l}(n-2)/2} \frac{K_{j}(n-2)}{2} x_{j}^{-1} \frac{\partial u}{\partial x_{j}} =$$

$$= x^{-K} \sum_{j=1}^{n} \frac{\partial^{2} u}{\partial x_{j}^{2}} + x^{-K} \sum_{j=1}^{n} \frac{K_{j}(n-2)}{2x_{j}} \frac{\partial u}{\partial x_{j}} = x^{-K} \Delta_{B_{\gamma}} u,$$

so

$$\Delta_{\omega} u = x^{-K} \Delta_{B_{\alpha}} u, \tag{8}$$

which was required to be proved.

We will consider the set R^n_+ equipped with a Riemannian metric

$$ds^{2} = x^{K} \sum_{i=1}^{n} dx_{i}^{2}, \quad K \in R,$$
(9)

as a Riemannian space; we will denote it by KI_n , and we will call metric (9) the K-homogeneous Kipriyanov metric.

Theorem 2 If n = 2, the problem of finding a metric satisfying equality (8) has no solution.

Proof Let

$$q_{11} = E$$
, $q_{12} = q_{21} = F$, $q_{22} = G$.

Then

$$g = \det \|g_{ij}\| = EG - F^2, g^{ij} = (-1)^{i+j} \frac{g_{ij}}{EG - F^2}.$$

Hence

$$\Delta_{\omega} u = G/|g| \frac{\partial^{2} u}{\partial x_{1}^{2}} + E/|g| \frac{\partial^{2} u}{\partial x_{2}^{2}} - \frac{\partial^{2} u}{\partial x_{1} \partial x_{2}} + \Phi\left(\frac{\partial u}{\partial x_{1}}, \frac{\partial u}{\partial x_{2}}\right), \tag{10}$$

where Φ denotes a summand that depends only on the first-order derivatives of the function u. In order for expression (10) to coincide up to a multiplier with (1), it is necessary that $F \equiv 0$. This will entail equalities

$$g = EG$$
, $g^{11} = 1/E$, $g^{22} = 1/G$, $g_{12} = g_{21} = g^{12} = g^{21} = 0$.

Therefore.

$$\Delta_{\omega} u = \frac{1}{\sqrt{|EG|}} \left(\frac{\partial}{\partial x_1} \left(\sqrt{\left| \frac{G}{E} \right|} \frac{\partial u}{\partial x_1} \right) + \frac{\partial}{\partial x_2} \left(\sqrt{\left| \frac{E}{G} \right|} \frac{\partial u}{\partial x_2} \right) \right) =$$

$$= \frac{1}{E} \frac{\partial^2 u}{\partial x_1^2} + \frac{1}{G} \frac{\partial^2 u}{\partial x_2^2} + \frac{\partial}{\partial x_1} \sqrt{\left| \frac{G}{E} \right|} \frac{\partial u}{\partial x_1} + \frac{\partial}{\partial x_2} \sqrt{\left| \frac{E}{G} \right|} \frac{\partial u}{\partial x_2}.$$

The first two terms must have the same coefficients, from where E = G. Then the last two terms are equal to zero, which means that it is impossible to find a metric satisfying equality (8) for n = 2.

2 Investigation of Isometric Transformations for the K-Homogeneous Kipriyanov Metric

The fulfillment of the Killing requirements

$$\sum_{s=1}^{n} \left(\xi_{s} \frac{\partial g_{ij}}{\partial x_{s}} + g_{is} \frac{\partial \xi_{s}}{\partial x_{j}} + g_{js} \frac{\partial \xi_{s}}{\partial x_{i}} \right) = 0, \ i, j = 1, \dots, n.$$

is a necessary and sufficient condition for a one-parameter group G with an infinitesimal operator

$$X = \sum_{i=1}^{n} \xi_i(x) \frac{\partial}{\partial x_i}$$

to be an isometry group.

Obviously,

$$\frac{\partial g_{ij}}{\partial x_s} = \delta_{ij} \frac{K_s x^K}{x_s}.$$

Therefore, the Killing equations will take the form

$$\sum_{s=1}^{n} \left(\delta_{ij} \xi_s K_s x^{K-1} + x^K \left(\frac{\partial \xi_i}{\partial x_j} + \frac{\partial \xi_j}{\partial x_i} \right) \right) = 0, \ i, j = 1, \dots, n.$$

By summing and reducing by x^K , we get

$$\delta_{ij} \sum_{s=1}^{N} \frac{\xi_s K_s}{x_s} + \frac{\partial \xi_i}{\partial x_j} + \frac{\partial \xi_j}{\partial x_i} = 0, \ i, j = 1, \dots, n.$$
 (11)

For $i \neq j$, Eq. (11) can be written as

$$\frac{\partial \xi_i}{\partial x_j} + \frac{\partial \xi_j}{\partial x_i} = 0, \ i, j = 1, \dots, n, \ i \neq j.$$
 (12)

For i = j, Eq. (11) can be written in the form

$$2\frac{\partial \xi_j}{\partial x_j} + \sum_{s=1}^n \frac{K_s \xi_s}{x_s} = 0, \ i = 1, \dots, n.$$
 (13)

The vector

$$\xi = (\xi_1, \dots, \xi_n), \ \xi_j = C x^p x_j,$$
 (14)

where

$$p = (p_1, \dots, p_n), \quad p_1 = p_2 = \dots = p_n = \beta = -\sum_{l=1}^n K_l/2 - 1,$$
 (15)

is a solution to system (13), which can be checked by direct verification. Substituting (14) into (12), taking into account (15), we obtain

$$0 \equiv \frac{\partial \xi_i}{\partial x_j} + \frac{\partial \xi_j}{\partial x_i} = \beta x^p \left(\frac{x_i}{x_j} + \frac{x_j}{x_i} \right), \ i, j = 1, \dots, n, \ i \neq j.$$

Hence we get

$$p_1 = p_2 = \dots = p_n = \beta = -\sum_{l=1}^n K_l/2 - 1 = 0,$$
 (16)

or, what is the same,

$$\sum_{l=1}^{n} K_l = -2,\tag{17}$$

and considering (4),

$$\sum_{i=1}^{n} \gamma_i = 2 - N. \tag{18}$$

3 Characteristics of the K-Homogeneous Kipriyanov Metric in the Case of a Single Singular Variable

There is a well-known case of fulfillment of condition (16), or, what is the same, (18). When $\gamma_1 = \gamma_2 = \cdots = \gamma_{n-1} = 0$, $\gamma_n = 2 - n$, K = -2, the space KI_n is the Poincare model of the n-dimensional Lobachevsky geometry. Next, we will consider the case of $\gamma_1 = \gamma_2 = \cdots = \gamma_{n-1} = 0$, $\gamma_n = 0$. Metric (3) will now take the form

$$g_{ij} = \delta_{ij} x_n^K, \ i, j = 1, \dots, n,$$
 (19)

where

$$K = 2\gamma/(n-2),\tag{20}$$

 δ_{ij} is the Kronecker symbol.

The following facts are established by direct calculation.

Theorem 3 *The Christoffel symbols of the first kind, corresponding to metric* (19), have the form

$$\Gamma_{ij,k} = \frac{Kx_n^{K-1}}{2} (\delta_{ik}\delta_{jn} + \delta_{jk}\delta_{in} - \delta_{ij}\delta_{kn}).$$

Proof From the definition of the Christoffel symbols of the first kind, taking into account (19)–(20), we obtain:

$$\Gamma_{ij,k} = \frac{1}{2} \left(\frac{\partial g_{ik}}{\partial x_j} + \frac{\partial g_{jk}}{\partial x_i} - \frac{\partial g_{ij}}{\partial x_k} \right) =$$

$$= \frac{1}{2} (\delta_{ik} \delta_{jn} K x_n^{K-1} + \delta_{jk} \delta_{in} K x_n^{K-1} - \delta_{ij} \delta_{kn} K x_n^{K-1}),$$

which was required to be proved.

Theorem 4 *The Christoffel symbols of the second kind, corresponding to metric* (9), have the form

$$\Gamma_{ij}^{k} = \frac{K}{2x_{n}} (\delta_{ik}\delta_{jn} + \delta_{jk}\delta_{in} - \delta_{ij}\delta_{kn}).$$

Proof From the definition of the Christoffel symbols of the second kind and the previous theorem, we obtain:

$$\Gamma_{ij}^{k} = \sum_{h=1}^{n} g^{kh} \Gamma_{ij,h} = \frac{K}{2} \sum_{h=1}^{n} \delta_{kh} x_{n}^{-K} x_{n}^{K-1} (\delta_{ih} \delta_{jn} + \delta_{jh} \delta_{in} - \delta_{ij} \delta_{hn}) = \frac{K}{2x_{n}} (\delta_{ki} \delta_{jn} + \delta_{kj} \delta_{in} - \delta_{ij} \delta_{kn}).$$

The theorem is proved.

Theorem 5 The components of the Riemann tensor, corresponding to metric (9), have the form

$$R_{ijk}^{l} = \left(\frac{K^{2}}{4x_{n}^{2}} - \frac{K}{2x_{n}^{2}}\right) \left(\delta_{li}\delta_{in}\delta_{kn} + \delta_{ik}\delta_{jn}\delta_{ln} - \delta_{ij}\delta_{kn}\delta_{ln} - \delta_{lk}\delta_{in}\delta_{jn}\right) + \\ + \frac{K^{2}}{4x_{n}^{2}} \left(\delta_{ij}\delta_{lk} - \delta_{ik}\delta_{lj}\right).$$

Proof In accordance to definition, the components of the Riemann tensor are calculated by the formulas

$$R_{ijk}^{l} = \frac{\partial \Gamma_{ik}^{l}}{\partial x_{j}} - \frac{\partial \Gamma_{ij}^{l}}{\partial x_{k}} + \sum_{m=1}^{n} (\Gamma_{ik}^{m} \Gamma_{mj}^{l} - \Gamma_{ij}^{m} \Gamma_{mk}^{l}).$$

We will calculate the partial derivatives included in these formulas. We have

$$\frac{\partial \Gamma_{ij}^k}{\partial x_s} = -\frac{K}{2x_n^2} \delta_{sn} (\delta_{ki} \delta_{jn} + \delta_{kj} \delta_{in} - \delta_{ij} \delta_{kn}),$$

from where, we obtain

$$\frac{\partial \Gamma_{ik}^l}{\partial x_i} = -\frac{K}{2x_n^2} \delta_{jn} (\delta_{li} \delta_{kn} + \delta_{lk} \delta_{in} - \delta_{ik} \delta_{ln}),$$

$$\frac{\partial \Gamma_{ij}^l}{\partial x_k} = -\frac{K}{2x_n^2} \delta_{kn} (\delta_{li} \delta_{jn} + \delta_{lj} \delta_{in} - \delta_{ij} \delta_{ln}).$$

Therefore,

$$\frac{\partial \Gamma_i^l}{\partial x_j} - \frac{\partial \Gamma_{ij}^l}{\partial x_s} = -\frac{K}{2x_n^2} (\delta_{jn}\delta_{lk}\delta_{in} - \delta_{jn}\delta_{ik}\delta_{ln} - \delta_{kn}\delta_{lj}\delta_{in} + \delta_{kn}\delta_{ij}\delta_{ln}).$$

Now we will calculate the last term in the definition. Taking into account Theorem 4, we find:

$$\sum_{m=1}^{n} (\Gamma_{ik}^{m} \Gamma_{mj}^{l} - \Gamma_{ij}^{m} \Gamma_{mk}^{l}) =$$

$$= \frac{K^{2}}{4x_{n}^{2}} \sum_{m=1}^{n} (\delta_{mi} \delta_{kn} \delta_{lm} \delta_{jn} + \delta_{mi} \delta_{kn} \delta_{lj} \delta_{mn} -$$

$$-\delta_{mi} \delta_{kn} \delta_{mj} \delta_{ln} + \delta_{mk} \delta_{in} \delta_{lm} \delta_{jn} +$$

$$+\delta_{mk} \delta_{in} \delta_{lj} \delta_{mn} - \delta_{mk} \delta_{in} \delta_{mj} \delta_{ln} - \delta_{ik} \delta_{mn} \delta_{lm} \delta_{jn} - \delta_{ik} \delta_{mn} \delta_{lj} \delta_{mn} +$$

$$\delta_{ik} \delta_{mn} \delta_{mj} \delta_{ln} - \delta_{mi} \delta_{jn} \delta_{lm} \delta_{kn} - \delta_{mi} \delta_{jn} \delta_{lk} \delta_{mn} + \delta_{mi} \delta_{jn} \delta_{mk} \delta_{ln} -$$

$$-\delta_{mj}\delta_{in}\delta_{lm}\delta_{kn} - \delta_{mj}\delta_{in}\delta_{lk}\delta_{mn} + \delta_{mj}\delta_{in}\delta_{mk}\delta_{ln} + \delta_{ij}\delta_{mn}\delta_{lm}\delta_{kn} +$$

$$+\delta_{ij}\delta_{mn}\delta_{lk}\delta_{mn} - \delta_{ij}\delta_{mn}\delta_{mk}\delta_{ln}).$$

Hence, taking into account the properties of the Kronecker symbol, in particular, the formulas

$$\delta_{il} = \delta_{li}$$
,

$$\sum_{m=1}^{n} \delta_{mi} \delta_{lm} = \delta_{il},$$

after identical transformations, we obtain a statement of the theorem.

Theorem 6 The components of the Ricci tensor, corresponding to metric (9), have the form

$$R_{ij} = \frac{K}{4x_n^2} \left((K - 2)(2 - n)\delta_{in}\delta_{jn} + (K(n - 2) + 2)\delta_{ij} \right).$$

Proof Directly from the definition of the components of the Ricci tensor

$$R_{ij} = \sum_{k=1}^{n} R_{ijk}^{k},$$

after identical transformations, we come to the validity of the theorem.

Theorem 7 The curvature of the space KI_n is calculated by the formula

$$R = \frac{Kn(n-2)}{x_n^{K+2}} = \frac{2\gamma n}{x_n^{(2\gamma+2n-4)/(n-2)}} .$$

Proof From the definition of curvature

$$R = \sum_{i=1}^{n} \sum_{i=1}^{n} g^{ij} R_{ij},$$

we come to the statement of the theorem by performing summation and identical transformations.

4 Investigation of Geodesic Lines for a K-Homogeneous Kipriyanov Metric

Theorem 8 The system of equations for geodesic lines in the space KI_n can be reduced to a system of the first order

$$\frac{dx_k}{ds} = \frac{C_k}{x_n^K}, \quad k = 1, \dots, n - 1,$$
(21)

$$\left(\frac{dx_n}{ds}\right)^2 = \frac{C_n}{x_n^K} - \frac{B^2}{x_n^{2K}} \ , \tag{22}$$

where

$$B = \sqrt{\sum_{k=1}^{n-1} C_k^2}.$$
 (23)

Proof The system of equations for geodesic lines in a given metric $||g_{ij}||$ has the form

$$\frac{d^2x_k}{ds^2} + \sum_{i=1}^n \sum_{j=1}^n \Gamma_{ij}^k \frac{dx_i}{ds} \frac{dx_j}{ds} = 0, \ k = 1, 2, \dots, n,$$

where s is the natural parameter (arc length). In our case, using the calculated Christoffel symbols, we can write this system as

$$\frac{d^2x_k}{ds^2} + \frac{K}{x_n} \frac{dx_n}{ds} \frac{dx_k}{ds} = 0, \ k = 1, \dots, n - 1,$$
 (24)

$$\frac{d^2x_n}{ds^2} - \frac{K}{2x_n} \sum_{i=1}^n \left(\frac{dx_i}{ds}\right)^2 + \frac{K}{2x_n} \left(\frac{dx_n}{ds}\right)^2 = 0.$$
 (25)

Equation (24) can be written as

$$x_n^{-K} \frac{d}{ds} \left(x_n^K \frac{dx_k}{ds} \right) = 0, \ k = 1, \dots, n - 1.$$
 (26)

Multiplying (26) by x_n^K , integrating and dividing by x_n^K , we get

$$\frac{dx_k}{ds} = \frac{C_k}{x_n^K}, \ k = 1, \dots, n - 1.$$
 (27)

Substituting (27) into (25), we get

$$\frac{d^2x_n}{ds^2} - \frac{KB^2}{2x_n^{2K+1}} + \frac{K}{2x_n} \left(\frac{dx_n}{ds}\right)^2 = 0.$$
 (28)

Equation (28) admits a reduction of the order in a standard way. Suppose

$$p = p(x_n) = \frac{dx_n}{ds}, \ v = p^2.$$

Then

$$\frac{d^2x_n}{ds^2} = p'p = \frac{1}{2}v'.$$

After that, Eq. (28) will be reduced to the form

$$v' + \frac{K}{x_n}v = \frac{B^2K}{x_n^{2K+1}},$$

which is equivalent to the equation

$$\frac{d}{dx_n}(x_n^K v) = \frac{B^2 K}{x_n^{K+1}}.$$

Integrating and dividing by x_n^K , we get

$$v = p^2 = \left(\frac{dx_n}{ds}\right)^2 = \frac{C_n}{x_n^K} - \frac{B^2}{x_n^{2K}}.$$

It is known [9], that geodesic lines have the property

$$\sum_{i=1}^{n} \sum_{j=1}^{n} g^{ij} \frac{dx_i}{ds} \frac{dx_j}{ds} = const.$$

In the case under consideration, this will lead to equality

$$\sum_{i=1}^{n} x_n^K \left(\frac{dx_i}{ds}\right)^2 = const. \tag{29}$$

From (21), it is easily deduced that the constant in equality (29) coincides with C_n .

References

- Kipriyanov IA (1967) FourierBessel transforms and imbedding theorems for weighted classes. Proc Steklov Inst Math 89:130–213
- 2. Kipriyanov IA (1997) Singular elliptic boundary-value problems. NaukaPhysmatlit, Moskow (in Russian)
- Katrakhov VV, Sitnik SM (2018) The transmutation method and boundary-value problems for singular elliptic equations. Contemporary mathematics. Fundam Dir 64(2):211–426. https://doi. org/10.22363/2413-3639-2018-64-2-211-426
- 4. Sitnik SM, Shishkina EL (2019) Method of transmutations for differential equations with Bessel operators (in Russian) Fizmatlit, Moscow
- Lyahov LN (2007) B-hypersingular integrals and their applications to the description of the Kupriyanov functional classes and to integral equations with B-potential nuclei LSPU, Lipetsk (in Russian)
- 6. Helgason S (1964) Differential geometry, lie groups, and symmetric spaces. Graduate Studies in Mathematics, 34, American Mathematical Society Providence, Rhode Island
- 7. Il'in VA (1969) Fourier series in fundamental systems of functions of the Beltrami operator. Differ Uravn 5(11):1940–1978 (in Russian)
- Feller W (1930) Über die Lösungen der linearen partiellen Differentialgleichungen zweiter Ordnung vom elliptischen pus. Math Ann 102:633–649
- 9. Eisenhart LP (1949) Riemannian geometry. Princeton